Add [Sub

@ Tn Cleveland, Ohio, The +cmp~era:fur¢
was —19°F in the morning - IF the
temperature rose °F what i's The
‘f‘cmp-cra:hue now-

© Let x = temp now
@ EZ—(A&'HOA with x het at the end

x - (~19) =¥
B Solve XTI —1 3
iy
x= -l
@ Answer ﬁesfim-’ =H"F

@AJim can b«.x an MP3 pPlayer with 120 68
of SPaCC r B 256, Or he can bu\j The

Same brand of MP3 player with 160 68
of space for 8426. How muchk more
does the 16o-6B player cost?
D Lef x = addionad cost of [bo-68 /D/ajer
@ Ezuq.h'm with X not at the end
2/? + X = ‘7‘:10
@ Solve: -6 g =L
x=190



